BIMEERE (IPAE) : BEBRERR

1. BHEHRER

== EHFERE
alad (S5 R EARH)
1) BENGEURIES 13.0
2) BINRERIES 7.0
3) MEBNGHREE 0.7
4) MEBENRERES 0.1
5) BRI EEIMNGIRIES 0.9
6) BEINEENREKERES 0.5
7) BIBEINFHIRES 0.9
8) BREINRERRES 0.3
9) B EWMEN GRS 16
10) B EREINRERIES 11
11) HEBEEINGRIRES 0.9
12) HUERBEEMNRERES 0.5
13) FESEIHMEREIISBURESE 3.3
14) EEEVHNEREIINRERIES 1.7

2. RIEHETHIER), RBARBLGIRIAE

REXRE B = BIRTIEHER ®h EiEtsER | FESHHNER
7R 16% 40% 35% 40% 40% 40%
8-10 X 18% 45% 35% 45% 45% 45%
11-14 X 19% 45% 40% 45% 45% 45%
15-21 X 20% 45% 40% 45% 45% 45%
22-28 X 25% 45% 45% 45% 45% 45%
17 30% 45% 45% 45% 45% 45%
2R 40% 50% 50% 50% 50% 50%
3R 50% 55% 55% 55% 55% 55%
4R 60% 60% 60% 60% 60% 60%
58 65% 65% 65% 65% 65% 65%
6H 70% 70% 70% 70% 70% 70%
7H 75% 75% 75% 75% 75% 75%
8H 80% 80% 80% 80% 80% 80%
9H 85% 85% 85% 85% 85% 85%
108 90% 90% 90% 90% 90% 90%
118 95% 95% 95% 95% 95% 95%
128 100% 100% 100% 100% 100% 100%

. ERABRERR, ARARBEIREXGHEESRR, TRENEREMRA. SEERMAGEMM, HEEEEER




